Basics

3x+2y=35
6x+ny=12

In the system of equations above,  is a constant If the
systern has no solutions, what is the value of n?

Z
A) 2 2
B) 4 /< 7;(/6
C) 6 _
D) 12

[ 2 |
{g_gc + 15y = 18
kKx — S5y = —7
What 1s the value of k if the above

system of simultaneous equations
admits no solutions?
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ax+28y=56

In the system of the equation above, a 1s a constant.

[f the system has infinitely many solutions, what 1s

the value of a?
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System of Equations Part C

2x+3y=95
4x+cy=38

[n the system of equations above, ¢ is a constant. For
what value of ¢ will there be no solution (x, y) to the

system of equations? 9. _ 2
e

A) 3

B) 4 o 3xL

, C- =73

C) 5 (

D) 6 4

6x—8y =24
e —
2 8
——X+—y=m
3 9 y

In the system of equations above, m 1s a constant. If
the system has more than one solution. what 1s the
value of m?
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Basics Lomplex
2 T\ v O s (L) 1
(= - . j/: e J4(1) (D
3 2+ 31+ ' S®+ 6@ (== {In the complex number system, what i1s the
(fw | If the expression above is equivalent t@rb') (= \value of the expression 16(D-&d+4 2 (Note:
. = || where a and b are constants, what is the valueof | .v_ )
KT, )6 43+

%\:( a-+ b? Note}{fi)

(

(AY 2 2+3( 1 2018
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C) 10 f «2F "~ F
D) 12
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N, ¥,
(37+2)(32-2)
The expression shown above can be written as

the complex number ai+b, where a and b are real

P

numbers. What 1s the value n@

(Note :'°\"'“l‘) ai-}-,)-?:é % o+ >H
= - S
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1S written 1n

143i
the form a+b1 where a and b are real

numbers and [ = \/:1_, what 1s the
value of(b —a

[f the expression

- “f'."‘é[
/o =
2
d—/i b,a
| 3\ %
- 33
A

Math is Root of Knowledge
pe=
=

..(-
o
(

Which-of the following is equal to
54 2i)(5 — 2i)? (Note: i =3/<1
(5420)(5 = 20)? (Note: § =)

A) 21
29 25 - "‘@

C) 21 —20: 25 44

D) 29 4 201 @

For i = v/—1, which of(hg following
: : 2= -
1S equivalent to = il L
A 13-7i |
24 = 4 / .
B 13 — 13i St = :ZZ/
. >4 28 ~l-1s
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D. 17 — 132 S
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z (a +b) (Q -5)
E3 s
a” (27(-(— 3 (27_.5) . .
" =9=(px+t)(px—-1t) fa"-b" nd asbe=gg, what is the value
of a+b °

[n the equation above, p and  are constants. )
Which of the following could be the value of p ? (6{ 'y (@) =

- (CI +b) X\:%
B) 3

+ a5y
D) 9

B S v & .~y 4
1f@®+b* = 20 and@b = 8, then what 4x” — 16x7y” + 16xy
is(b—=a)*? Which of the following is equivalent to
(Grid 1n) the expression shown above?
2
& Qab b 7( x(2x* —2y)?
0 x2(2x2 — 2y2)2
(403 _ Do - /6 X(sz p— 4-y2)2
Do— ~ i D. x(4x? — 4y*4)*
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Basics Funclions Part B
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Funclions Part B

The graph of a polynomual equation m the xy-plane
contains the potnts (-1, 0), 2! 0), and (3, 0). Which
of the following could be the equation of the graph?

A) y=-x(2x)(3x)

B)y=(x-1)x+2)(x+3)

C)y=x(x- l)( 2)(x+3)
CDpy=( (x+ 1) (xED)(x=3)

()( 3 2) (764-3)
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The points (=3,0}, (1,0),and (2,0) all lie in the
xy-plane on the graph of the polynomial function |
Which of the following couid define f?

A) fix)=(x+1i{x+2)(x-3)

B) fix)=(x+1j{x-2){x+3]

C) fa ) (x=11 fl*"m-%

D} f(x)={x=1}{x=2}{x43)
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